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Logical Reasoning Questions for CLAT Exam 

CLAT Reasoning Quiz 23 

Directions: Read the questions carefully and choose the right answer. 

1. Select the related word from the given alternatives. 

Ice : Coolness : : Earth : ? 

A. Gravitation    B. Round 

C. Weight    D. Mountain 

2. Select the related words from the given alternatives. 

Loth : Reluctant : : Timid : ? 

A. Bad     B. Memorize 

C. Shy     D. Recluse 

3. Find the odd word of letters from the given alternatives. 

A. Downs    B. Prairies 

C. Savanna    D. Grassland 

4. Arrange the given words in a meaningful order and select the option indicating the 
correct order. 

1. Seeds     2. Plant      3. Plough       4. Harvest         5.Crop 

A. 3, 1, 2, 5, 4    B. 1, 2, 3, 5, 4 

C. 3, 4, 2, 5, 1    D. 1, 4, 3, 2, 5 

5. Rajesh's rank is 25th from the bottom and 7th from the top of the merit list of a 
class. Total number of students in the class is : 

A. 32     B. 33 

C. 31     D. 34 

 



 

 

6. Five friends Rinku, Chintu, Tinku, Sintu and Mintu are sitting around a circular table. 
Mintu is not between Tinku and Sintu. Chintu is on the immediate right of Tinku and is 
second to the right of Sintu. Who is second to the left of Chintu? 

A. Mintu    B. Sintu 

C. Tinku    D. Rinku 

7. Statements: 
All centres are institutes. 
Classes are centres. 

Conclusions: 
I. Some classes are institutes. 
II. Some centres are classes 

A. Only conclusion I follows  B. Only conclusion II follows 

C. Either conclusion I or II follows D. Both conclusions I and II follows 

8. X goes 19m to the south to reach point Y, then he turns to his right and walks 25m 
to reach point Z, then he turns to his right and walks 29m and reached point A. Again 
he turns right and walks 25m to reach at point B. How far is X from the starting point 
and in which direction? 

A. 10m, South    B. 8m, South 

C. 10m, North    D. 10m, East 

9. Pointing to a photograph, Manoj said, "His mother's only child is my father's only 
son." Whose photograph is Manoj pointing to? 

A. Brother's    B. His own 

C. Cousin's    D. Father's 

10. A series is given with one term missing. Choose the correct alternative from the 
given ones. 

3E    6H    10L    15Q    ? 

A. 21X     B. 20W  

C. 19U     D. 21W 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A C D A C B D C B D 

 

Explanations: 

 

1. Second is the property possessed by the first. 

Hence, option (A) is correct. 

 

2.   Both are synonyms. 

Hence, option (C) is correct. 
 

3. All except D are types of grassland. 

Hence, option D is correct 

 

4.   Plough → Seeds → Plant → Crop → Harvest 

3              1             2            5             4 

Hence, option (A) is correct. 

 

5. Total number of students in the class = 25 + 7 – 1 = 31. 

Hence option (C) is correct. 

 

6.  

  
 

Hence, option (B) is correct. 



 

 

7.  Classes are centres → All classes are centres (A) + All centres are institutes (A) = 
A + A = A 
 
= All classes are institutes → implication → Some classes are institutes.  
 
Hence, conclusion I follows. 
 
Again, classes are centres → conversion → Some centres are classes. 
 
Hence conclusion II follows. 
 
Therefore, option (D) is correct. 

 

8. 

 
 

∴ Distance from starting point = 29 – 19 = 10m 

Hence, option (C) is correct. 

 

9.  

 
 

With the above explanation we can infer that Manoj is pointing towards his own 
photograph. 

Hence option (B) is correct. 

 

10. 3 + 3 = 6, 6 + 4 = 10, 10 + 5 = 15, 15 + 6 = 21 

E + 3 = H, H + 4 = L, L + 5 = Q, Q + 6 = W 

Hence, option (D) is correct.  
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